EARAROBREBRT —5 XN—ZXBISH—F 2023528238 (A) 21EHEE3H

Wl S AGAURYYv—2 B HSR4AZKLE BRI
[KE£] 1&:450,000F  2&:144,000H  337%&:81,000MH  4%&:54,000H  53&:36,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= 4 5 | REE} 1:31.3 6-6-5-3 |38.9| -— 2 477 | ZHEA (E8)
11| 77T9A 54.0 ) o | FAmx
RikyI—IIWIIT B:H—ULTFLRN B 45
T RS 4 5 | WTHEE 1:31.4 2-2-2-2 | 39.5| — 1 530 | SRt (5E)
21717 [N R34 6.0 /2) “3) B2\
R:O—RAprO7 #S:VVIN-—R /=Y Tr—1I
= = 5 | WO 1:31.6 1-1-1-1 [39.9| - 3 492 | FWRF (E8)
3 4| TATLNYTH— " 56.0 (3/4) (-g) | TTERIEH
RIRART—ILYF— BRYFILL NVERT7—LA
= = o~ 4 | BLES 1:32.9 5-5-3-4 | 40.8| -— 5 525 | FWERF ()
4|5|5 | TATLN==5FY & 54.0 %) (-3 | MELER B
R:Z2MOAVIUI—Y B:ZERVa—4bvhk KERIS
o— » pUsEE : -7-8- - SHEBIF (8)
5 6 ISSU—HIL 4t 5 X520 1.(:’?).7 7-7-8-8 | 40.8 7 (4_116) e =
RiALYITSvoEl B:r—I—-vI35UR WA A0
y» w0 KA :33. -9-9- . - hEHE ((£8)
6l8lo By RHYN— 9 Eme 1(33/34)9 8-9-9-9 | 40.9 9 (5+319) il
RinNA40 B:F4—F74 freepe
N v 5 | HEAH 1:34.4 4-4-6-6 | 42.2| — 6 458 | ERIRtE (1EE9)
d : BE2Z:E4% 04 i 257 @17 ) |TEER
R:STARAT—=vx B:OF/FI3DYY TR 268
°— 4 6 | HTHE 1:34.6 3-3-4-5 |42.4| - 4 | 466 |HBF (EE)
8 2 ANZTIL 56.0 (3/4) (1) |RE=
R:ALYISvoElL B:ZAF/70vY A ppate)
34~ 4 8 | WKIEA 1:34.9 9-8-7-7 |41.9| - 8 49 |PIIES (£8)
9l8l8|77YVFUT 54.0 (112 7) |BBET
RiNZ—ka1—R B:Ea—-F«4FA4Rb LS
@ 11— —‘@BIEfI
13—7F— 4,7,2,3,5,1,6,9,8
20—7F— 4,7,2,3,5,1,6,8,9
31—7F— 4,7,5,2,1,3,8,6,9
40—7F— 4,7,1,5,2,3,8,6,9
o ILRE
BB 1 40| [ DA R 1-7 170 AN 1-7 400M 3EE 1-4-7 470
B B 1 110 1-4 230 F5 EE 1-7 3504 3EE 1-7-4 2,950
7 110 4-7 250 o= 1-7 820/
4 120/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



